#ZE 5LDK

wior K229 T H

5LDK

000

D 64,8961 I mas T
+4/50.815%(:4)

NERDHELS
1 @UHIL DEBRAEL
IR, EIH< TR KBRS, I FIARN=AN. BN
(-3 WAZLTVBDT. BT BRI REFOMIC. BKE - DT LAN—2BHHI0HBA
= +1#)/167.98m (50.813F) = ¥1/137.87mi (41.708F) = BrE/ALBT] = EAMBEAI/SR B LY #5045 (17

52K Good Point +—7 2 A B
Tean o I 5/23®-24® 10:00~17:00

b
.

WRHRTIEER F—IVEKETax2—b

1

) i
FoF v @nn-anms  IUREAEES cE®
+RRES +PIA GALESSD

oflcés
BRI

eO—vY

ey

*2@)
PRRETRISAT

Bk
(AmENETELN)

sy S HH

LRI w2

MNERHHEL ) RERHIEL
EEMERAGEL ) MBRANEL
. > .8

P 3 e
L e

1 o G 7]
2 R AL )l B

#i%E 5LDK

v fRE 1 T H

#i5E 4L DK

Rt YA R1ITH

INEBHGEL
e

RO AL

o B2 0 2YASONn
—

35 ALDK z
it B3 T H

R VLN ARl ) FRERASEL
BT
= +#/143.20mi (43.31 %)
= #4)/112.64m (34.07+F)
wEEE /387
= FRRREI/N B L) {EH 35
()

%5/20(K) ~5/24(R)

LDK 18 (5%) ) MEBAHELS
| R @I
. = 11h/128.93m (39.005F)
= #1)/127.72 i (38.631F)
= EFE /357
u SRS BE R & V) £ 1925
[ 47]
%5/20(k) ~5/24(R)

BERS ZEATEE T, T AEMEL ERIENTEET.
#ZE 5LDK A
i NHWTT H

- AL AN

= +146/118.62m (35.885F) = +3#/142.23 i (43.025F)

= E2%/111.69m (33.781F) = $2%)/128.50 (38.871F)

= BEE /38T nBEE/387

s B\EATBNZE LY EEHAD = \BH/NRELY ESH25
[ 97] [ 97]

%5/20(K)~5/24(H) . Wil 3x5/20(7K) ~5/24(H)
FERFCRATEET, INFEERHHELY Z=IV=HEL B CREATEET,

(B§) 77— bh—L

B076-292-7456 &R AIL2-402

Ei2%E A)II(3) #38415

https://www.first-home.co.jp




